

PHRAGMEN-LINDELÖF THEOREM FOR A CLASS OF NON-UNIFORMLY ELLIPTIC EQUATION

FARMAN MAMEDOV AND NARMIN AMANOVA

Abstract. The non-divergent structure elliptic equations of second order with non-uniform degeneration at infinity is considered in this paper. For a class of non-uniformly elliptic equation we obtain sufficient conditions on a domain, subordinate term coefficients, degeneration behavior of eigenvalues of the leading term coefficients of the equation near infinity. This allows to obtain a version of the Phragmen-Lindelöf theorem.

1. Introduction

Let E_n be the n -dimensional Euclidean space of points $x = (x_1, \dots, x_n)$, $n \geq 2$ and D be an unbounded domain in E_n with boundary $\partial D \in C^2$ lied in the cone

$$G = \left\{ x : \left(\sum_{i=1}^{n-1} x_i^2 \right)^{1/2} < kx_n, 0 < x_n < \infty, 0 < k \leq \frac{1}{16} \right\}.$$

Consider in D the problem

$$Lu = \sum_{i,j=1}^n a_{ij}(x)u_{ij} + \sum_{i=1}^n b_i(x)u_i + c(x)u(x) = 0, \quad (1.1)$$

$$u|_{\partial D} = 0. \quad (1.2)$$

Assume that for $x \in D$ and $\forall \xi \in E_n$

$$\gamma \sum_{i=1}^n \lambda_i(x)\xi_i^2 \leq \sum_{i,j=1}^n a_{ij}(x)\xi_i\xi_j \leq \gamma^{-1} \sum_{i=1}^n \lambda_i(x)\xi_i^2, \quad (1.3)$$

where $\gamma \in (0, 1]$ is a constant, $\|a_{ij}(x)\|$ is a real symmetric matrix, $u_i = \frac{\partial u(x)}{\partial x_i}$, $u_{ij} = \frac{\partial^2 u(x)}{\partial x_i \partial x_j}$, and

$$\lambda_i(x) = \left(\frac{\omega_i^{-1}(1 + \rho(x))}{1 + \rho(x)} \right)^2, \quad \rho(x) = \sum_{i=1}^n \omega_i(|x_i|); \quad i, j = 1, \dots, n. \quad (1.4)$$

Further, $\omega_i(t)$, $i = 1, \dots, n$ are strongly monotone positive functions on $[0, \infty)$ such that $\omega_i(t) \rightarrow \infty$ as $t \rightarrow +\infty$. By $\omega_i^{-1}(t)$ denote the inverse function of $\omega_i(t)$ on

2010 *Mathematics Subject Classification.* 35B09, 35B45, 35B65, 35D35, 35B50.

Key words and phrases. Phragmen-Lindelöf's theorem, elliptic equation, non-uniform degeneration.

$[0, \infty)$. Assume that $\omega_1^{-1}(t) \geq \dots \geq \omega_n^{-1}(t)$. There exist constants $\alpha, p, \eta \in (1, \infty)$ and $q > n, A > 0$ such that for sufficiently large $R > 0$ and $i = 1, \dots, n$ the following inequalities hold

$$\alpha\omega_i(R) \leq \omega_i(\eta R) \leq p\omega_i(R), \tag{1.5}$$

and

$$\left(\frac{\omega_i^{-1}(R)}{R}\right)^{q-1} \int_0^{\omega_i^{-1}(R)} \left(\frac{\omega_i(\tau)}{\tau}\right)^q d\tau \leq AR. \tag{1.6}$$

Also assume that

$$-C_0 \leq c(x) \leq 0, \tag{1.7}$$

where C_0 is a positive constant. Denote

$$b_R(x) = \left(\frac{b_1(x)}{(\omega_1^{-1}(R))^2}, \dots, \frac{b_n(x)}{(\omega_n^{-1}(R))^2}\right).$$

Consider also the "shortened" operator $L_c = L - c(x)$. Let $x^0 \in E_n, R > 0, k > 0$ and let $E_R^{x^0}(k)$ be the ellipsoid

$$\left\{x : \sum_{i=1}^n \frac{(x_i - x_i^0)^2}{(\omega_i^{-1}(R))^2} < k^2\right\}.$$

Denote by $E_R^{x^0}(k_1, k_2)$ the ellipsoid layer $E_R^{x^0}(k_2) \setminus E_R^{x^0}(k_1)$ with $k_2 > k_1$. Denote $D_R = D \cap E_R^0(1, 17)$ and for $z \in \partial E_R^0(9) \cap \bar{G}$ set $D_R^z = D \cap E_R^z(8), x^0(z) \in \partial E_R^z(1) \cap \partial E_R^0(9), A_R = \cup_z x^0(z)$, and set

$$G_S^{(R)}(x) = \left(\sum_{i=1}^n \frac{(x_i - x_i^0)^2}{(\omega_i^{-1}(R))^2}\right)^{-s/2}, \quad s > 0.$$

For the small term coefficients and the domain D we assume the condition

$$(b_R(x), x - x^0) \leq 0, \quad x \in D_R, \quad x^0 \in A_R. \tag{1.8}$$

at infinity.

We derive a growth estimate from below for vanishing on boundary positive solutions of the non-uniformly elliptic equations on the unbounded domain. Such estimates are historically called Phragmen-Lindelöf type theorem. The Dirichlet problem for elliptic equations is not unique solvable on unbounded domains. The mentioned estimates depending on geometry of domain near infinity is a main tool to prove the uniqueness theorems for elliptic equations.

For elliptic equations the Phragmen-Lindelöf theorem was proved in [6] and [8] for the first time. For further discussions of Phragmen-Lindelöf's principle we refer to the books [15], [1], [5], and [7]. Also we cite [10], [4], [11], [14], [13], [17] on this subject; for the degenerate elliptic equations see e.g. [16], [12]. In [9, 2, 3], the non-uniformly elliptic equation with power type degeneration $\lambda_i(x) = |x|_{\alpha}^{\alpha_i}$ was considered without small term coefficients. In this paper, we consider a general non-uniformly elliptic equation with small terms and a general form degeneration.

2. Notation and auxiliary results

Definition 2.1. Let $\lambda = (\lambda_1(x), \dots, \lambda_n(x))$. Denote by $W_{2,\lambda}^2(D)$ a Banach space of functions $u(x)$ in D having the finite norm

$$\|u\|_{W_{2,\lambda}^2(D)} = \left(\int_D \left(u^2 + \sum_{i=1}^n \lambda_i(x) u_i^2 + \sum_{i,j=1}^n \lambda_i(x) \lambda_j(x) u_{i,j}^2 \right) dx \right)^{\frac{1}{2}}.$$

Set $\overset{\circ}{W}_{2,\lambda}^2(D)$ closure of the functions class $u(x) \in C_0^\infty(\overline{D})$ under the norm $W_{2,\lambda}^2(D)$.

Definition 2.2. A function $u(x) \in \overset{\circ}{W}_{2,\lambda}^2(D)$ is called a strong solution of problem (1.1)-(1.2) if it satisfies (1.1) a.e. in D .

Lemma 2.1. Let $z \in \partial E_R^0(9) \cap \overline{G}$, $x^0(z) \in \partial E_R^z(1) \cap \partial E_R^0(9)$ where $R \geq 1$, $x_1^0(z) > 0$, $x_2^0(z) = \dots = x_{n-1}^0(z) = 0$, $x_n^0(z) > 0$. Then $x^0(z) = (x_1^0(z), x_2^0(z), \dots, x_n^0(z)) \in \overline{G}$.

Proof. To shorten the records we will write x_i^0 in place of $x_i^0(z)$, $i = 1, \dots, n$. We have

$$\begin{cases} \frac{(x_1^0)^2}{(\omega_1^{-1}(R))^2} + \frac{(x_n^0)^2}{(\omega_n^{-1}(R))^2} = 81, \\ \frac{(x_1^0 - z_1)^2}{(\omega_1^{-1}(R))^2} + \frac{z_2^2}{(\omega_2^{-1}(R))^2} + \dots + \frac{z_{n-1}^2}{(\omega_{n-1}^{-1}(R))^2} + \frac{(x_n^0 - z_n)^2}{(\omega_n^{-1}(R))^2} = 1, \\ \frac{z_1^2}{(\omega_1^{-1}(R))^2} + \dots + \frac{z_n^2}{(\omega_{n-1}^{-1}(R))^2} = 81. \end{cases} \quad (2.1)$$

Inserting third equation into the second and subtracting it from the first equation, we obtain

$$\frac{2x_1^0 z_1}{(\omega_1^{-1}(R))^2} + \frac{2x_n^0 z_1}{(\omega_n^{-1}(R))^2} = 161.$$

Therefore,

$$\frac{2x_n^0 z_n}{(\omega_n^{-1}(R))^2} \leq 161 + \frac{2x_1^0 |z_n|}{(\omega_n^{-1}(R))^2}.$$

On the other hand

$$\begin{aligned} \frac{|z_1|}{\omega_1^{-1}(R)} &\leq \frac{|z_1|}{\omega_n^{-1}(R)} < \frac{kz_n}{\omega_n^{-1}(R)}, \\ \frac{x_1^0}{\omega_1^{-1}(R)} &= \sqrt{81 - \left(\frac{x_n^0}{\omega_n^{-1}(R)} \right)^2}. \end{aligned}$$

Denoting $\frac{x_n^0}{\omega_n^{-1}(R)} = v$, $\frac{z_n}{\omega_n^{-1}(R)} = \omega$ we have

$$2v\omega \leq 161 + 2k\omega \sqrt{81 - v^2}. \quad (2.2)$$

From the third equation it follows that

$$81 \leq \left(\frac{z_1}{\omega_1^{-1}(R)} \right)^2 + \dots + \left(\frac{z_n}{\omega_n^{-1}(R)} \right)^2 \leq k^2 \omega^2 + \omega^2 = (k^2 + 1) \omega^2,$$

or

$$\omega \geq \frac{9}{\sqrt{k^2 + 1}}.$$

Taking into the account this from (2.2) it follows that

$$v \leq \frac{8,9 + k\sqrt{0,94}}{\sqrt{1+k^2}}.$$

Also from the first equation of (2.1) it follows that

$$\left(\frac{x_1^0}{\omega_1^{-1}(R)}\right)^2 \geq 81 - \frac{(8,9 + k\sqrt{0,94})^2}{1+k^2},$$

or

$$\begin{aligned} x_1^0 &\geq \omega_1^{-1}(R) \sqrt{81 - \frac{(8,9 + k\sqrt{0,94})^2}{1+k^2}} \geq \\ &\geq \sqrt{81 - \frac{(8,9 + k\sqrt{0,94})^2}{1+k^2}} \cdot \frac{\sqrt{1+k^2}}{(8,9 + k\sqrt{0,94})} x_n^0. \end{aligned} \quad (2.3)$$

In order to have $x^0(z) \in G$ it suffices that

$$81(1+k^2) - (8,9 + k\sqrt{0,94})^2 > k^2 (8,9 + k\sqrt{0,94})^2.$$

Solving this inequality we obtain the condition $k < \frac{1}{\sqrt{94}}$. Since $K \in (0, \frac{1}{16}]$, the last condition is verified.

This completes the proof of Lemma 2.1. □

Lemma 2.2. *Let $x^0 \in A_R$. Then for any $x \in D_R^z$ there exists a constant $\beta = \beta(k) > 0$ such that*

$$\left(\sum_{i=1}^n \frac{(x_i - x_i^0)^2}{(\omega_i^{-1}(R))^2}\right)^{1/2} \geq \beta.$$

Proof. There are two possibilities:

$$\begin{aligned} 1) \quad &\left(\sum_{i=1}^n \frac{(x_i - z_i)^2}{(\omega_i^{-1}(R))^2}\right)^{1/2} \geq 1 + \mu, \\ 2) \quad &\left(\sum_{i=1}^n \frac{(x_i - z_i)^2}{(\omega_i^{-1}(R))^2}\right)^{1/2} < 1 + \mu, \end{aligned}$$

where the constant $\mu \in (0, 3)$ will be determined later.

Let the case 1) take place. Then using Minkowsky's inequality, we get

$$\left(\sum_{i=1}^n \frac{(x_i - x_i^0)^2}{(\omega_i^{-1}(R))^2}\right)^{1/2} \geq \left(\sum_{i=1}^n \frac{(x_i - z_i)^2}{(\omega_i^{-1}(R))^2}\right)^{1/2} - \left(\sum_{i=1}^n \frac{(x_i^0 - z_i)^2}{(\omega_i^{-1}(R))^2}\right)^{1/2} \geq 1 + \mu - 1 = \mu.$$

Let now the case 2) take place. For $x \in D \cap E_R^z(1 + \mu)$ we have

$$\begin{cases} \sum_{i=1}^n \frac{(x_i - z_i)^2}{(\omega_i^{-1}(R))^2} < (1 + \mu)^2, \\ \sum_{i=1}^{n-1} x_i^2 < K^2 x_n^2. \end{cases}$$

From the first inequality we get

$$\left(\frac{x_n - z_n}{\omega_n^{-1}(R)}\right)^2 < (1 + \mu)^2 \quad \text{and} \quad \left(\frac{x_n}{\omega_n^{-1}(R)}\right)^2 < (1 + \mu)^2 + \frac{2x_n z_n - z_n^2}{(\omega_n^{-1}(R))^2}.$$

Set $\bar{x}_n = \sup_{x \in D \cap E_R^z(1+\mu)} x_n$. Evidently, $\bar{x}_n \geq z_n$. Therefore, the function $\varphi(z_n) = 2\bar{x}_n z_n - z_n^2$ does not decrease. Also we have

$$\begin{aligned} \frac{\bar{x}_n^2}{(\omega_n^{-1}(R))^2} &\leq (1 + \mu)^2 + \frac{2\bar{x}_n \vartheta \omega_n^{-1}(R) - 81(\omega_n^{-1}(R))^2}{(\omega_n^{-1}(R))^2} = \\ &= (1 + \mu)^2 + 18 \frac{\bar{x}_n}{\omega_n^{-1}(R)} - 81. \end{aligned}$$

Denoting $t = \frac{\bar{x}_n}{\omega_n^{-1}(R)}$, we obtain

$$t^2 - 18t + 81 - (1 + \mu)^2 \leq 0.$$

Solving this inequality we obtain that $t \leq 10 + \mu$ or $\bar{x}_n \leq (10 + \mu)\omega_n^{-1}(R)$. From the second inequality (2.1) we get

$$|x_1| < k(10 + \mu)\omega_n^{-1}(R) \leq k(10 + \mu)\omega_1^{-1}(R).$$

From (2.3) it follows that

$$\left(\sum_{i=1}^n \frac{(x_i - x_i^0)^2}{\omega_i^{-1}(R)^2}\right)^{1/2} \geq \frac{x_1^0 - |x_1|}{\omega_1^{-1}(R)} \geq \sqrt{81 - \frac{(8, 9 + k\sqrt{0, 94})^2}{1 + k^2}} - k(10 + \mu).$$

It easily seen that for $k \in (0, \frac{1}{16}]$

$$J(k) = \sqrt{81 - \frac{(8, 9 + k\sqrt{0, 94})^2}{1 + k^2}} > 10k.$$

Therefore, there exists $\varepsilon_0 = \varepsilon_0(k) > 0$ such that $J(k) = (10 + \varepsilon_0)k$. Choose $\mu = \varepsilon_0/2$ and fix it. Then in case 2)

$$\left(\sum_{i=1}^n \frac{(x_i - x_i^0)^2}{(\omega_i^{-1}(R))^2}\right)^{1/2} \geq k\varepsilon_0 - \frac{k\varepsilon_0}{2} = \frac{k\varepsilon_0}{2}$$

Set $\beta = \frac{k\varepsilon_0}{2}$ and the proof of Lemma 2.2 is ready. \square

Lemma 2.3. *Let the conditions (1.3)-(1.8) be satisfied. Then for any fixed $x^0 \in A_R$ there exists $s = s(\gamma, n) > 0$ such that for any $x \in D_R$ we have*

$$L_c G_s^{(R)}(x) \geq 0.$$

Proof. Denote $r(x) = \left(\sum_{i=1}^n \frac{(x_i - x_i^0)^2}{(\omega_i^{-1}(R))^2}\right)^{1/2}$. For $G_s^{(R)}(x) = r^{-s}$ it is easily seen that $\frac{\partial G_s^{(R)}(x)}{\partial x_i} = -s r^{-s-2} \cdot \frac{x_i - x_i^0}{(\omega_i^{-1}(R))^2}$, $\frac{\partial^2 G_s^{(R)}(x)}{\partial x_i^2} = s(s+2)r^{-s-4} \cdot \frac{(x_i - x_i^0)^2}{(\omega_i^{-1}(R))^4} - s r^{-s-2} \cdot \frac{1}{(\omega_i^{-1}(R))^2}$, $\frac{\partial^2 G_s^{(R)}(x)}{\partial x_i \partial x_j} = s(s+2)r^{-s-4} \cdot \frac{(x_i - x_i^0)(x_j - x_j^0)}{(\omega_i^{-1}(R))^2(\omega_j^{-1}(R))^2}$.

Therefore,

$$L_c G_s^{(R)}(x) = sr^{-s-2} \left[\frac{s+2}{r^2} \sum_{i,j=1}^n a_{ij}(x) \frac{(x_i - x_i^0)(x_j - x_j^0)}{(\omega_i^{-1}(R))^2 (\omega_j^{-1}(R))^2} - \sum_{i=1}^n a_{ii}(x) \frac{1}{(\omega_i^{-1}(R))^2} - \sum_{i=1}^n b_i(x) \frac{x_i - x_i^0}{(\omega_i^{-1}(R))^2} \right].$$

Make use the conditions (1.3) and (1.8). Then we have

$$L_c G_s^{(R)}(x) \geq sr^{-s-2} \left(\frac{\gamma(s+2)}{r^2} \sum_{i=1}^n \frac{\lambda_i(x)(x_i - x_i^0)^2}{(\omega_i^{-1}(R))^4} - \gamma^{-1} \sum_{i=1}^n \frac{\lambda_i(x)}{(\omega_i^{-1}(R))^2} \right).$$

It is possible to show that (see [3, Lemma 1]) there exist positive constants $C_1(n)$ and $C_2(n)$ such that

$$C_1(n) \left(\frac{\omega_i^{-1}(R)}{R} \right)^2 \leq \lambda_i(x) \leq C_2(n) \left(\frac{\omega_i^{-1}(R)}{R} \right)^2, \quad i = 1, \dots, n.$$

From this we deduce that

$$L_c G_s^{(R)}(x) \geq \frac{s}{R^2 r^{s+2}} \left(\gamma(s+2)C_1(n) - \frac{C_2(n)n}{\gamma} \right).$$

To finish the proof it suffices to choose $s \geq \frac{C_2(n)n}{C_1(n)\gamma^2} - 2$.

This completes the proof of Lemma 2.3. \square

Corollary 2.1. *Let $z \in D \cap \partial E_R^0(9)$, $x^0 = x^0(z)$, $x \in D \cap E_R^z(8)$, $g_s^{(R)}(x) = \beta^s G_s^{(R)}(x)$. Then $g_s^{(R)}(x) \leq 1$.*

Lemma 2.4. *Let $z \in D \cap E_R^0(9)$, $x^0 = x^0(z)$ and in $H_R = D \cap \overline{E_R^z(8)}$ a positive solution $u(x)$ of equation (1.1) is defined, which is continuous in $\overline{H_R}$ and vanishes on the part Γ of the boundary ∂H_R lied strongly interior in $E_R^z(8)$. Then if the conditions (1.3)-(1.8) are fulfilled there exists a constant $\eta = \eta(\gamma, n)$ such that*

$$\sup_{H_R} u(x) \geq (1 + \eta) \sup_{H_R \cap E_R^z(1)} u(x).$$

Proof. First, show that if $Lu(x) = 0$ then $L_c u^2(x) \geq 0$. Indeed,

$$\begin{aligned} L_c u^2(x) &= 2u(x) \sum_{i,j=1}^n a_{ij}(x) u_{ij} + 2 \sum_{i,j=1}^n a_{ij}(x) u_i u_j + \\ &+ 2u(x) \sum_{i,j=1}^n b_i(x) u_i \geq 2u(x) \left(\sum_{i,j=1}^n a_{ij}(x) u_{ij} + \sum_{i=1}^n b_i(x) u_i \right) = \\ &= 2u(x)(-c(x)u(x)) = -2c(x)u^2(x) \geq c_0 u^2(x) \geq 0. \end{aligned}$$

Set $\sup_{H_R} u^2(x) = M$. Consider the auxiliary function

$$U(x) = M \left[1 - g_s^{(R)}(x) + \sup_{x \in \overline{H_R} \cap \partial E_R^z(8)} g_s^{(R)}(x) \right].$$

It is easily seen that

$$L_c(U(x) - u^2(x)) \leq 0 \text{ in } H_R, \quad (U(x) - u^2(x))|_{\Gamma} \geq 0, \quad (U(x) - u^2(x))|_{\partial H_R \setminus \Gamma} \geq 0.$$

Using the maximum principle we have $U(x) \geq u^2(x)$ in H_R and, in particular,

$$\sup_{H_R \cap E_R^z(1)} u^2(x) \leq M \left(1 - \left(\inf_{H_R \cap E_R^z(1)} g_s^{(R)}(x) - \sup_{x \in \overline{H}_R \cap \partial E_R^z(8)} g_s^{(R)}(x) \right) \right).$$

Let $x \in \overline{H}_R \cap \partial E_R^z(8)$. Then

$$\left(\sum_{i=1}^n \frac{(x_i - x_i^0)^2}{(\omega_i^{-1}(R))^2} \right)^{1/2} \geq \left(\sum_{i=1}^n \frac{(x_i - z_i)^2}{(\omega_i^{-1}(R))^2} \right)^{1/2} - \left(\sum_{i=1}^n \frac{(x_i^0 - z_i)^2}{(\omega_i^{-1}(R))^2} \right)^{1/2} \geq 8 - 1 = 7.$$

Therefore, $\sup_{H_R \cap E_R^z(8)} g_s^{(R)}(x) \leq 7^{-s} \beta^s$. If $x \in H_R \cap E_R^z(1)$ then

$$\begin{aligned} \left(\sum_{i=1}^n \frac{(x_i - x_i^0)^2}{(\omega_i^{-1}(R))^2} \right)^{1/2} &\leq \left(\sum_{i=1}^n \frac{(x_i - z_i)^2}{(\omega_i^{-1}(R))^2} \right)^{1/2} + \\ &+ \left(\sum_{i=1}^n \frac{(z_i - x_i^0)^2}{(\omega_i^{-1}(R))^2} \right)^{1/2} \leq 1 + 1 = 2. \end{aligned}$$

Hence

$$\inf_{H_R \cap E_R^z(1)} g_s^{(R)}(x) \leq 2^{-s} \beta^s,$$

We get

$$\sup_{H_R \cap E_R^z(1)} u^2(x) \leq M(1 - \beta^s(2^{-s} - 7^{-s})).$$

This completes the proof of Lemma 2.4. \square

Lemma 2.5. *Let $u(x)$ be a positive solution of the equation (1.1) in $H_R^1 = D \cap E_R^0(17)$ which is continuous in \overline{H}_R^1 and vanishes on the part of boundary ∂H_R^1 that lies strongly interior in $E_R^0(1.17)$. If the conditions (1.3)-(1.8) are fulfilled then*

$$\sup_{H_R^1} u(x) \geq (1 + \eta) \sup_{H_R^1 \cap \partial E_R^0(9)} u(x).$$

Proof. Let z be a point from the set $\overline{H}_R^1 \cap \partial E_R^0(9)$ for which $u(z) = \sup_{H_R^1 \cap \partial E_R^0(9)} u(x)$.

By Lemma 2.4,

$$\sup_{H_R^1 \cap E_R^z(8)} u(x) \geq (1 + \eta) \sup_{H_R^1 \cap \partial E_R^z(1)} u(x).$$

On the other hand,

$$\sup_{H_R^1 \cap \partial E_R^z(1)} u(x) \geq u(z) \text{ and } E_R^z(8) \subset E_R^0(1 : 17).$$

This completes the proof of Lemma 2.5. \square

Corollary 2.2. *Let in $H_R^2 = D \cap E_R^0(17)$ it is defined a positive solution $u(x)$ of the equation (1.1), which is continuous in \overline{H}_R^2 and vanishes on the part of the boundary ∂H_R^2 that lies strongly interior in $E_R^0(17)$. If the conditions (1.3)-(1.8) are fulfilled then*

$$\sup_{H_R^2} u(x) \geq (1 + \eta) \sup_{H_R^2 \cap E_R^0(9)} u(x).$$

Proof. According to Lemma 2.5

$$\sup_{H_R^2 \cap E_R^0(1:17)} u(x) \geq (1 + \eta) \sup_{H_R^2 \cap \partial E_R^0(9)} u(x).$$

On the other hand,

$$\sup_{H_R^2 \cap \partial E_R^0(9)} u(x) = \sup_{H_R^2 \cap E_R^0(9)} u(x)$$

and

$$\sup_{H_R^2 \cap E_R^0(1:17)} u(x) \leq \sup_{H_R^2} u(x).$$

This completes the proof of Corollary 2.2. □

3. Main result

Theorem 3.1. *Let the coefficients of operator L are defined on a domain $D \subset G$ and satisfy the conditions (1.3)-(1.8). Let $u(x)$ be a solution of the problem (1.1)-(1.2). Then for $M(r) = \sup_{D \cap \partial E_r^0(1)} |u(x)|$ we have:*

$$1) \text{ either } u(x) \equiv 0 \text{ in } D \text{ or } 2) \liminf_{r \rightarrow \infty} \frac{M(r)}{r^\delta} > 0,$$

where $\delta > 0$ depend on γ, n, k .

Proof. Let there exists a point $y \in D$ on which $u(y) = \eta_1 \neq 0$, $\eta_1 = \text{const}$. Without loss of generality we may assume that $\eta_1 > 0$. Let $D^+ = \{x : x \in D, u(x) > 0\}$ and D' be a connected component of D^+ that contains the point y . It follows from the maximum principle that this component is an unbounded set, on boundary of which $u(x)$ vanishes. Let $\gamma_0 < p$, then for any $R > 0$ the inclusion $E_{\gamma_0 R}^0(1) \subset E_R^0(9/17)$ takes place. Hence, for any $R \geq 1$ Corollary 2.2 asserts the inequality

$$\sup_{D \cap E_R^0(1)} u(x) \geq (1 + \eta) \sup_{D \cap E_{\gamma_0 R}^0(1)} u(x).$$

Let m_0 be a minimal natural number such that $y \in E_{\gamma_0^{-m_0}}^0(1) \cap D'$. Let further, $r > 1$ be arbitrary real number and the natural number $m > m_0$ be such that

$$\gamma_0^{-m} \leq r < \gamma_0^{-m-1},$$

i.e.

$$m \ln \frac{1}{\gamma_0} \leq \ln r < (m + 1) \ln \frac{1}{\gamma_0}$$

and hence

$$m > \frac{\ln r}{\ln \frac{1}{\gamma_0}} - 1.$$

We assume also r is so large that

$$\frac{\ln r}{\ln \frac{1}{\gamma_0}} - 1 \geq \frac{\ln r}{2 \ln \frac{1}{\gamma_0}}.$$

Denote $N(r) = \sup_{D' \cap E_r^0(1)} u(x)$. Applying sequentially Corollary 2.2, we get

$$\begin{aligned} N(r) &\geq (1 + \eta)^{m-m_0} N(\gamma_0^{-m_0}) \geq (1 + \eta)^{m-m_0} \eta_1 = (1 + \eta)^m \frac{\eta_1}{(1 + \eta)^{m_0}} = \\ &= (1 + \eta)^m \eta_0 \geq \eta_0 (1 + \eta)^{\frac{\ln r}{2 \ln \frac{1}{\gamma_0}}} = \eta_0 \eta_2^{\ln r} = \eta_0 \exp(\ln \eta_2 \ln r) = \\ &= \eta_0 \exp(\ln r^\delta) = \eta_0 r^\delta, \end{aligned}$$

where

$$\eta_0 = \frac{\eta_1}{(1 + \eta)^{m_0}}, \quad \eta_1 = N(\gamma_0^{-m_0}), \quad \eta_2 = (1 + \eta)^{\frac{1}{2 \ln \frac{1}{\gamma_0}}}, \quad \delta = \ln \eta_2.$$

Therefore, for sufficiently large r it holds the inequality

$$\frac{N(r)}{r^\delta} \geq \eta_0.$$

Using the maximum principle, this completes the proof of Theorem 3.1.

Acknowledgements

The authors wish to thank the referee for useful comments.

□

References

- [1] T. Adamovich, Phragmen-Lindelöf theorems for equations with nonstandard growth, *Nonl. Anal.*, **163** (2014), 169–186.
- [2] R. M. Aliquliyev, A Phragmen-Lindelöf type theorem for a non-divergent structure linear elliptic equations of the second order. *Trans. Mat. Mec. inst. Azerb. Nat. Acad. Sci.*, **1**(21), (2001), 26–31.
- [3] N. R. Amanova, On strong solvability of the Dirichlet problem for a class of no uniformly degenerated elliptic equations of second order. *Caspian J. Appl. Math., Ecology, and Economics*, **5**(2), (2017), 3–25.
- [4] G. N. Blokhina, Theorems of Phragmen-Lindelöf type for linear elliptic equations of second order, *Mat. Sb. (N.S.)*, **82**(124), 4(8), (1970), 507–531 (in Russian).
- [5] M. M. Bokalo, A priori estimation of solution and Phragmen-Lindelöf theorem for some quasi-linear parabolic systems in unbounded domains. *Vestnik Lvovsk University*, ser. mech.-math., **45**, (1996), 26–35 (in Russian).
- [6] D. Gilbarg, The Phragmen-Lindelöf theorem for elliptic partial differential equations. *J. Rational Mech. Anal.*, **1**, (1952), 411–417.
- [7] G. N. Hile and R. Z. Yeh, Phragmen-Lindelöf principles for solutions of elliptic differential inequalities, *J. Math. Anal. Appl.*, **107**, (1985), 478–497.
- [8] E. Hopf, Remarks on the preceding paper of D. Gilbarg, *J. Rational Mech. Anal.*, **1**, (1952), 419–424.
- [9] S. T. Huseinov, Qualitative properties of solutions of divergent elliptic equations of second order having non-uniformly degeneration, *PhD Thesis*, Baku, 2000, 117 pp.

- [10] E. M. Landis, *Second order equations of elliptic and parabolic type*, "Nauka", Moscow, 1971 (in Russian); English transl.: *Amer. Math. Soc., Providence, RI*, 1997.
- [11] I. T. Mamedov, A generalization of a Phragmen-Lindelöf type theorem for elliptic linear equations, *Mat. Zametki*, **33**(3), (1983), 357–364 (in Russian).
- [12] I. T. Mamedov, Analogous of Phragmen-Lindelöf principle for solutions of degenerated elliptic equations of the second order, *Trans. Mat.-Mec. inst. Azerb. Nat. Acad. Sci.*, **18**(4&5), (1997), 113–122 (in Russian).
- [13] F. I. Mamedov, Theorems of Phragmen-Lindelöf type for second-order linear elliptic equations of divergence type with a positive right-hand side, *Differ. Uravn.*, **26**(11), (1990), 1971–1978 (in Russian).
- [14] V. G. Mazya, The behavior near the boundary of the solution of the Dirichlet problem for an elliptic equation of the second order in divergence form. *Mat. Zametki.*, **2**(2), (1967), 209–220 (in Russian).
- [15] M. H. Protter and H. F. Weinberger, *Maximum Principles in Differential Equations*, *Prentice-Hall.*, Englewood Cliffs., N.J., 1967
- [16] A. B. Shapaval, Growth of solutions of nonlinear degenerating elliptic inequalities in bounded domains *Vestn. Moscow Univ., ser. math.-mech.*, **1**(3), (2000), 3–7(in Russian).
- [17] L. Xiting, A Phragmen-Lindelöf principle for generalized solutions of quasilinear elliptic equations, *Northeastern Math. J.* , **5**(2), (1988), 170–178.

Farman Mamedov

Department of Mathematical Physics Equations, Mathematics and Mechanics Institute, of Azerbaijan National Academy of Sciences, Baku, Azerbaijan.

E-mail address: farman-m@mail.ru

Narmin Amanova

Department of Differential Equations, Baku State University, Baku, Azerbaijan.

E-mail address: amanova.n93@gmail.com

Received: October 10, 2021; Revised: January 28, 2022; Accepted: February 3, 2022